QUIZ — the Czech Republic

1) What's the population of the Czech Republic?
- 10 600 000 (P)

-9 200 000 (R)

-8 600 000 (T)

2) What colours are there on the Czech flag?
- red, blue, white (A)
- orange, black, red (B)

- white, green, black (C)

3) What states are our neighbours?
- Germany, Poland, Slovakia, Russia (O)
- France, China, USA (P)

- Germany, Poland, Slovakia, Austria (R)

4) Which state has got the longest boarder with the Czech Republic?
- Poland (D)
- Germany (E)

- France (F)

5) What kind of language is Czech?
- Roman (M)
- Slavonic (N)

- Germanic (O)



6) Which animal is there on the Small State Emblem of the Czech Republic?
- lion (T)
- horse (U)

- mole (V)

7) How many districts are there in the Czech Republic?
-3(D)

- 14 (E)

-12 (F)

8) Which river is there in Prague?
- Vltava (S)

- Labe (T)

- Tibera (U)

9) How high is the highest mountain in the Czech Republic?
- 1491 metres (O)
- 1603 metres (P)
- 2605 metres (Q)

10) Who is the most famous saint in the Czech Republic?
- Wenceslas (R)

- George (S)

- Elizabeth (T)



11) When was the Charles University founded?
- 1807 (B)
- 1348 (A)
- 1418 (C)

12) How many cultural properties are there on the World Heritage List of
UNESCO?

-5(F)
- 14 (G)
23 (H)

13) Which of these monuments is not there in Prague?
- Charles Bridge (T)
- Temelin Nuclear Power Station (U)

- Prague Castle (V)

14) Which Czech sportsman won the super-G in alpine skiing at the 2018 Winter
Olympics?

- Jaromir Jagr (D)
- Ester Ledecka (E)

- Gabriela Koukalova (F)

Correct answer: PARENTES PRAGUE



